BC Calculus – FDW 3rd Edition – Section 6.4 Even Answers

Quick Review 6.4
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Section 6.4
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  16. 4.62% rate, $8000 in 30 yr   18. 7.2% rate, 9.63 yr = doubling time

20.(a) 8.74 yr  (b) 8.43 yr  (c) 8.49 yr  (d) 8.40 yr   22. k = .01067    24. 1250 bacteria

26. 138.6 days  28. 
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   30. 5oF   

32.(a) 53.45o above room temperature  (b) 23.79oF above  (c) 232.5 min or 3.9 hr
34.(a) Newton’s Law of Cooling predicts that the difference between the probe temperature (T) and the surrounding temperature (Ts) is an exponential function of time.     (b) 
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  (c) at about 37 seconds  (d) 79.96oC

36.(a) 12,571 B.C. (b) 12,101 B.C. (c) 13,070 B.C.  38. 585.4 kg   40. 16.09 yr   42. 54.88g   
44.(a) 
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. It grows by a factor of ‘e’ each year. (b) ln 3 or 1.1 yr  

     (c) (e – 1) times your initial amount, 172% increase
46.(a) 
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 (c) 
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, doubling time = .69/r

     (d) 70/5 = 14 yr or 72/5 = 14.4 yr  (e) 108/(100r), 108 has more factors than 110

48. True. The solution to the differential equation is an exponential function which can be 

written in any base, since 
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.   50. C   52. E 

54. Let s(t) be a distance traveled (fallen) function of time with s(0) = 0 meters. 

     (a) Then if 
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 which is, 

      using a u-substitution, 
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      Now plug in to find C. s(0) = 0 
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     (b) 
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56. 
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58.(a) v(0) = 0 then find dv/dt to show it’s the solution. (b) 
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  (c) 179 ft/s or 122 mph
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